The expenses of liquidation amounted to % 1,000. The
liquidator’s remuneration was agreed at 2.5% on the amount
realized (including cash) and 2% on the amount pa1d to
unsecured creditors.

Prepare liquidator’s Final statement of account

) ;F;]gmm 31, wmig 20146 t%%pasa;asm_wrrg @iy ;ﬁcmva; @iy
Qsreimig (HHSS). e <pHmwD smeliLEF Qsiig Qanamr_g.
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Liabilities . T g Assets z
LIBIGIPSE : BHCUWIT 60,000
19,500 LrkigsaT T 10 afgy  1,95,000 &gl ib 48,000
LHUG SLTBCHTT : QuisSrb 65,500
UGS ;SIGDQSDTU_]G]TGTTQ ' 53,310 a&p&@m 56,800
(51gb Bg)) .

Yenamrwinpm sLaiBCHMT . 99,790 Uﬁ)'—‘.@) sLemefgar 48,820
wpengflento sLafbCHmT 24,200 Qpr&sb 2,500
auid GodauaiiLing 8,000 Qe plLs 5/ 98,680

Qangg1Ha6T SpssaTLcurn eADSILIL L 6.

E3
PRT : 35,000
Qupdyd 51,000
F6E, : 39,000
sLarreflaer 58,500
Qyrisstb 2,500

smaliLE Qewajsat T 1,000. saeuiurant safuib, Qersgisse e
arssgw Cgresuied (Qrméswpb Gsisg) 2.5% sPleyb wHmL
Wevamrdoers sLabCenmses Osqssiiun Qsrasled 2%
sfla|b eran @&&IERaETETemILIL_L g).

semeLiLimarfler Qmfls sasanss suimt Qs
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Time : Three hours

10.

L1,

12.

. Write short note on ‘Consolidated Balance sheet’.

Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define Social Responsibility Accounting.
FUPSML QUITTLIL] SETEE — UeTW.

What is Human Resources?

wefls aueThISET GTETmMED GTeTen?

What is “Pooling of Interest Method”?
udley Qe el (PED GTETDHTED GTETEN ?
Define the term ‘External Reconstruction’.
LD Lof) SGHIOLIL| GTGHTD LSEMS QUnTIID.
What is Minority Interest? .

SmILITEen LDUGGHTT HEVEIT GTETDHTE) GTEHE P

-

‘poRdoans QLY flows Gy — fp Gy awmrs. -

. What do you mean by ‘Rebate on Bills Discounted’?

gemepLilg Qe L 2 erg uieler Wsmen &ulle] eremmimed creman?
Who is a Liquidator?
SENGLILITEITIT GTETLIGUIT WITT?

What is included in List D?
L g uied D-é o _arerLmiSlwig) crétan?

How do you calculate net liability in Life Assurance Business?
<wer 2 mf aalssdd Her Qummieu  ereueurmy  Bedd
s Sl (Houmit? : _ "

What is reserve for unexpired risk?
TATLMTTS QL (HEHTET REI6HE GTEMMITED GTEITEH?

Give the meaning of Aggregate Payment Method.
Qongs QFaiss (e QAUITHET S(HS.

t)l\clvancao“ Covpovare %C'ﬁwfnﬁ.

B-om (&) -

M

\
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'~ SECTION B — (5 x 5'= 25 marks)

‘Answer any FIVE questions.

From the following: information taken from the books of ‘F” Ltd.
relating to staff and community benefits, prepare a statement
classifying the various items under the appropriate heads,

required under corporate social reporting. .,

Environment improvements -
Medical facilities

Training programmes
Generation of job opportunities
Municipal taxes

Increase in cost of living in the vicinity due to a

‘Thermal power station

Y 5
Concessional transport, water supply

Extra work put in by-staff and officers
for drought relief

Leave encashment and leave travel benefits
Educational facilities for children of staff members
Subsidized canteen facilities

Generation of business

T
21,10,000

* 45,00,000

10,25,000
60,75,000

10,70,000

16,55,000
11,25,000

18,50,000
52,00,000
21,60,000
14,40,000
25,00,000

ol OQLL e ghasalld®mpg. uamflureanisdr wHmb sLPHTW
penenLoseT QgrLiurer, elepisdr G srliLLHieTerer. Hmiw FepSML
afsmsler ogluemiuiear Sp vaGean Qamsmer SGHS

saalisaiar S1p UTGURSS Ddléms gwmi dewis.

T

FOMFSHLPD penGarHmib 21,10,000

WDHSGI6U UFHEHET 45,00,000

LD &S L miser 10,25,000

veef] 6umiLIL&6T 2 (Heum&aHLD 60,75,000

ga;grrf.ﬁ aufflsar 10,70,000
Qauliugsd) ‘r_ﬂma)é{@eﬁeb

urpsmssy ellame ndsMssd 16,55,000
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EpSETEDILD eflagtisaflaimps  sr@arwr  aumd  SWOEL L gen

31.3.2015 b gyarpésrar Qeru BLL & sambms swrhlés.

T
 sLeSgl eullg 2,60;000
Blenew enautiLy gl eut_lg 2,80,000
QUMY SOSBWTeT([HSH@ NHSaLLLL Sr@Gs s Lemd 8,000
' Neunses Qewaysar 56,000
QUL L@ Q&@g 2 aiTigWeSler LBSTET SET(@mpLIlg 2,00,000
BLLUIL| seasdlends) eul iy 45,000
&j&& HOID eSleTbLIFD 3,006
Qrés sLanilg) eulig 2,25,000
aum_engub eufluyd é0,000
Cuéeuenrliupmy g eul g 56,000
Senll&enSELITeTT LHMID @USGHT SLL_6wrLd 14,500
GaLllliL semré@0g) eullq 70,000
LTS LpMID FHS 1,500
upUe CQFaeysET 1,000

24. A company went in liquidation on 31.03.2014 when the-following

balance sheet was prepare
Liabilities
Share capital :
19,500 shares of ¥ 10 each 1,9
Sundry creditors : '
Partlly secured (on buildings) 5
Unsecured creditors 9
Preferential creditors 2
Bank overdraft
3,8

X

d.

’

5,000

3,310
9,790
4,200
8,000

0,300

Assets realized as follows :

Building
Machinery
Stock
Debtors
Cash

35,000

51,000 .

39,000

58,500
2,500
Bl

Assets ) T
Goodwill 60,000
Building 48,000
Machinery L 65,500
Stock 56,800
Sundry debtors 48,820
Cash ' 2,500
Profit and loss account 98,680
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23.

(=) S S ggieter @arud marsgid H G ukigser
umRAUHSHHE FLLULLMal. HeTTe) LIRGSET aurmiélu
CaHufler grpsenGeur smiuy T60,000 QBHSS!-

() S ABOLL ghpsasmem.  smass wrnss Esesb H
ANBOL L@ 2 fume. eupdles H oSG LT eulL@p
QewwitinltLg T 20,000 2B LD

(@) S SNQLL e 2drer upue Cersgisedar T 20,000 gmpeurs
SN vl Hererg. )

(‘FF) H AQL L srsdmlude Gampglearer T 50,000 wdlliyatar &6

i S aﬁL&QLanﬂ@;bg Qamerpgedr QFlIsg). Dmeu L SasHarn
Ba1 25% @eomuiid eeugg eNibsLILIL L enoy.

From the follo‘v'vihg particulars, Prepare profit and loss ackéouht

of Karunya Bank Ltd., for the year ended 31.3.2015.

T
Interest on loans 2,60,000
Interest on fixed deposits 2,80;000

Commission charged to customers 8,000

Establishment expenses 56,000
Discount on bills discounted 2,00,000
_Interest on current accounts 45,000
Printing and advertisement 3,000
Interest on cash credits . 2,25,000
Rent and taxes : 36,000 .
Interest on overdrafts - ‘ j 56,000

Director’s and Auditor’s fees - 14,500

Iriterest on savings bank account 70,000

Postage and telegrams 1,500
'Sundry charges ° 1,000
10 60132/BPZ4A/BPF4A/
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Equity shares of

T

ng@Qq_cﬁné@mqgg, setrentit efldsed 11,25,000
aupl_ 4§ ﬁmqnmgﬁﬁ)gnes uenflwmeTiseT dHmid

-gflarilsarmed Qeiiwiinl L sa@gd Couamen 18,50,000
ARy LemTTHDLD WHmItd 68 HILIL] LwewTLILIwI6 52,00,000
uenflwretigefen @LpbenssEhaaTen H6ll cusdlser 21,60,000
wmeflw &b miehriy. m&'ef;]a;'eh ] 14,40,000
QsmPd o aurésd el o 25,00,000

A Ltd. was absorbed by B Ltd. on 31st December 2010. On that
date their Balance Sheet were as under :

Liabilities z z Assets E§ &
~ 5,00,000 2,00,000 Fixed assets  3,00,000 2,00,000

T 10 each ‘ " Investments - 20,000

Reserves and surplus  1,00,000 50,000 Current
Current Liabilities 2,00,000 1,50,000 assets. . 5,00,000 1,80,000

Fwhlenals LikiGser

8,00,000 4,00,000- 8,00,000 -4,00,000

The conditions of absorption are 2 shares of B Ltd ¥ 10 each at a
premium of ¥ 2.50 per share for every one share held in A Ltd.
Prepare the ledger accounts in the books of A Ltd and pass
entries in the books of B Ltd.

2010 &L 31 premeny 19 SNQLL ¢ G enL G816
QararL g subBranear @ blenavs @Ml Gemeumomm :
QumrmLiLser z 2 QenégEs6T T T
5,00,000 2,00,000 fleneré Qenggisaat 3,00,000 2,00,000

¥10 ofgw ‘ A wsShsar . — 20,000

BLOL QurmitiLger

sTIYSET HMI eHs@Esa 1,00,000 50,000 pLiiy

2,00,000 1,50,000 Qsmggisser  5,00,000 1,80,000
8,00,000 4,00,000 8,00,000 4,00,000

g S gaQeur@m ukGEsED @ SlCLger T 10 wgllyerer
Qraw(h  umE@seT 5. 2.50 &g p@eTbSFILET FTUILESSETS
QULPBIGLILIHILD. )

o QL igen grhsafier CLCT . H& samsEsamenub, 19 SOGEIL L g6
ghsefléd @MOCUL B ueysameryyb swrhlés. .
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19.

S < sTUTLH sbQuailern aumeumy sanédear 31.3.2012
SOOI UG sb_gjg‘,] BE em. 62,211,310 erenigl Spsse
Nleunrisener sarTadled er(H&@D (6T a;rru_uuGéﬂg)gj

(é{) wosmi§l g Cambgierer Carfsmaser T 12,000

() puar sTUSLH oaingmss Gonésl LweaTuhsHwu
sarga50gmms T 4,500 : Za

(@) Devewruwid g eurCeueimgwieul iy T 8,260

() QeruLCeuaiigw wpanaon T 5,410

(2) Csrilsmsser Qs flelsg Gemenid Q&Q]g,g,rrg,g,] ¥26,500

Cupaar elleurhisamer samsfle TS e pujer o mig ﬁ]ﬁ
SeS @, Hlenad eTemen?

From the following information, prepare Liquidator’s Final

‘Statement of Account.

a ; £ 4
Cash at Bank 1,00,000
Surplus from securities : 10,10,000
Expenses of Liquidation 30,000
Liquidator’s Remuneration 7,000
Preferential Creditors - ' 2,00,000
Unsecured Creditors +7,00,000
Preference shareholders J 1,00,000
Equity shareholders 1,00,000

&Qa;a;am; eNeugrisatied b &mmuunmrﬂm @nds a;ewa;a;gﬁ]a;ma;emu_l
SLTAGHLD.

£

a4 QurEsd 1,00,000
QenemruisSed i 2 L 10,10,000
&meLILIF Qgavalser 30,000
seperILTeTT sarfluid - | 7,000
wpenayflanins sLaibCHTTseT : 2300,000
GeremruioHp sLatbCsTiseT 7,00,000
pergyflento urﬂ@g,rrqfraseh _ 1,00,000
Criteniol) UkI@GSTriTser ©1,00,000
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SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

20. Ascertain net monetary result or ‘general level gain or loss’ from
the following information.
1.1.2008  31.12.2008
- T T

Cash and Bank balance : 60,000 88,000
Accounts receivable ' 80,000 1,00,000
Accounts payable 1,00,000 + 1,24,000
General retail price’index number 100 125

Average index number for the year 120.

Epsaa eleurrisafealmba By uer ey Sdeg . Qurg eSame
<SlaTey @@TULD SHOWF BLL S ST (e,

1:1.2008 31.12.2008

T T
Qrésid WwHmib euriid @i 60,000 88,000
‘auye&i M senrd@aser 80,000 1,00,000
Qsa1s850@ MU samsEsdr 1,00,000 1,24,000
QurgF Heoaeamy ellames @GOG eramr ‘ 100 1['25

e Hasren Frmafl GHuic @ erewr 120

21. X Ltd and Y Ltd are two companies carrymg on busmess in the
same line of activity. <

Balance sheet

Liabilities XLtd. T YLtd ¥ Assets XLtd. T YLtd ¥
Equity shares of Land 1,00,000 -

% 10 each 6,00,000 2,00,000 Cash 1,00,000 1,00,000
Resetves 4,00,00‘0 2,00,000 Stock 9,00,000 4,00,000
Current liabilities  6,00,000 4,00,000 Debtors 3,00,000 1,00,000
Secured loans 6,00,000 1,00,000 Plant 7,00,000  3,00,000

Investments 1,00,000 -
22,00,000 9,00,000 22,00,000 9,00,000
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